ApPTHUKYZ HamMeHoBaHMe

=
o)
=

Bonr M6x12

Komnmbuo 40x2.65

Kompuo cronopHoe

Kompuo cTomnopHoe

N
1 3
2 1
3 1
4 16202 HomumnHuk 6202 2
5 1791-806-005 Ban penykTopa 1
6 |791-806-006 llecTepHsa penykTopa 1 1
7 |791-806-007 llecTepHsa pemykropa 11 1
g 9 v, & 5 4 3 2 8 Brynka 1
. 9 16002 Homumnuuk 6002 2
ee 2l 19 Pl / 10 |791-806-010 CanbHuMk 17x40x7 1
{ ) A 11 Komnbl1o CcTONOpHOE 1
v v £ b B 12 16203 NogmmnHMk 6203 2
13 12 11 ]ﬂ' 46 13 |791-806-013 llecTepHsa pemykToOpa 1
L_| 14 |791-806-014 Bas Bemymmi 1
Y v 15 |791-806-015 CanmbHmMk 12x22x5 1
- 17 16 15 16 |791-806-016 BuJlKa NEepeKJIOUeHs 1
%Ef 26 e = 17 |791-806-017 Bas BMIIKM [NEePEeKJIOYEHNA 1
i 27 29 30 12 31 32 |18 Bomr M6x16 L
EL. - 19 llapux 6.3 1
i1 b—fg! e 20 Mpyxuza 1
_ Vit v it # 21 llpobka Majnad 1
E:? 28 18 37 % 35 34 1 22 [lpoBxa Gomblias 3
Ly 23 |791-806-023 [IpoBka 3ajIMBHOTO OTB. 1
,' === 1’{; a-Wa 24 |791-806-024 llecTepHs pemyKTopa 1
AV 25 |791-806-025 3BesmouKa 1
26 |791-806-026 llenb 1
277 Brynka 1
28 |791-806-028 MecTepus 1
29 |791-806-029 Ban Benyumin 1
30 llanba 1
31 1
32 1

Konmpuno 40x2.65

Monmerib
MoTo6siok 6eHBMHOBHI
BYLE®AJL
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 1




Ne ApTHKYTN HanMeHOBaHHE Kon

33 | 791-806-033 BUHT 1

34 | 791-806-034 Kpsimka 1

35 | 791-806-035 CanbHUK 25x%x52%9 1

36 Konpoo cTomopHoe 52 1

37 | 6205-2RS HogmunoHUK 6205 1

38 | 791-806-038 Ban (mecTHTPaHHBIN) 1

39 | 791-806-039 3Be3pgodyka 1

& 5 4 3 2 40 | 6005 NogmunHUK 6005 1

41 BonT M10x12 1

42 la#iba 10 1

43 | 791-806-043 CanbHUK 25x%x41x%9 1

-1 44 | 791-806-044 Kpelmka HOpaBas 1

]D' 46 45 | 791-806-045 PegykTop B cbope 1

12 31
. S — BN
¥
o/ 28
& 38 37 36 35 34 33
— S B-0-8.4
44 v VoY
Mopens
MoTob6750k GeH3HHOBHIH BYIESAT
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 2




Ne ApPTHUKYZ HamMeHoBaHMe Kon
1 |170FTPM-K2 IeuraTtens 170F 1
2 1791-806-048 Pama 1
3 Tarika 2
4 Manba 2
5 larba 2
6 Bosr M8x70 1
7 T'arka 4
8 MlarBa 4
9 MlarBa 4
10 Bosr M8x40 4
11 BoaT M8x16 4
12 |791-806-058 Bawmnep 1
Mogpernb
MoTo6s0k OEeHBMHOBHM BYIESAJ
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 3




ApPTHUKYZ

HamMeHOBaHME

=
o)
=

791-806-059 Crorika pyJisa

BoanT M8x20
791-806-061 [ImacTuHa

Manba
791-806-063 Baxmum

BoaT M16x140

Manba

Manba
791-806-067 BaxmuMm
791-806-068 PyJib
791-806-069 Priuar rasa

791-806-070

PykosdaTka

791-806-071

BrIKJIIOUATEJIE 3aXUT'aHUS

791-806-072

Pyuka cuernjeHmda

Manba

MrudT

Manba

MrudT

791-806-077

Tpoc cuenseHusa

791-806-078

KpoHWTENH peYara

Boar M6%x20

MrudT

MramHT
791-806-082 Tara
791-806-083 Tara
791-806-084 PykogaTka

NIEN ISR SR ST E ] ] ) [ (i priiy jruiiy Uy (YU (VIR U pU U
Jlo| gl w Nkl o|lololglala|a|w/ v klol@ @0 s w NS

791-806-145

Tpoc rasa

N e R R I R N B S e B e B B e B e N B e B L e B B e Y =W I SN (NN Y

MomeJsb

MoTo6JiIoKk 6eHBUMHOBLINM BYIIESAN

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 4




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |791-806-085 MrudT 3
2 llanba 3
3 Tarika 3
4 llarBa 3
5 BoaT M8x20 2
6 |791-806-090 COMmHUK 1
7 1791-813-155 MrudT 1
8 T'arika 2
9 ]791-806-093 Cuenka 1
10 BoaT M10x90 1
11 |791-806-095 MnameaT 3
12 |791-806-096 Cuernka 1
13 |791-806-097 MnamMeT 1
14 Bosr M8x20 2
&)
=]
<
<
i)
C
)
Mogpernb
MoTo6s10k 6EeHBMHOBHM BYIESAJ
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 5




Ne ApTHUKYI HamMeHOBaHME Koxn
1 T'avka 1
2 Mlamba 1
3 |791-806-101 [IpyXMHa HATSIXUTEJIS 1
4 |791-806-102 KpoHWTEMH TpOoCHKa 1
5 |791-806-103 kB BEIOMBIN 1
6 BosT 1
7 1791-806-105 Koxyx peMHs 1
8 Bosr M6x10 2
9 |791-806-107 PemeHb 1
10 |791-806-108 KB BeIyuUM 1
11 Bosr M8x16 2
13 |791-806-111 KpoHmTenu 1
14 |791-806-112 Ponmuk HaTsaxeHUs B cbOope 1
15 |791-806-113 Baj HaTAXMUTEJS 1
16 larba 1
Mogpernb
MoTo6s0k OEeHBMHOBHM BYIESAJ

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
1 T'avika 16
2 arnba 16
3 llarBa 16
4 |791-806-118 Ocb koJleca 2
5 |791-806-119 Iuck xoJieca (5,8) 2
6 |00-4.00-8 Kamepa 4.00-8 2
7 101-4.00-8-T Mokpremka 4.00-8 2
8 |791-806-119 Iuck xoJieca (5,38) 2
— WL 9 Bosr M10x20 16
=) ' S * 1791-806-200 Kojieco B cBope mnpasoe 1
= ® @ * 1791-806-201 Koneco B cbBope JeBoe
L
'._m . L e ®
B P a
T o B
Mogpernb
MoTo6s0k OEeHBMHOBHM BYIESAJ
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 7




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |791-806-123 Kpelio mpasoe 1
2 1791-806-124 Kpeuio sieBoe 1
3 |791-806-125 KpoHWTEeVH 3amHMUl KOPOTK. 1
5 |791-806-127 KpoHWTENH NepenHuM OJIMH. 1
6 Bosr M8x20 8
7 llarBa 8
8 Bosr M8x16 2
9 Bosr M8x60 1
10 MlarBa 1
11 larba 1
12 T'arika 1
Mogpernb
MoTo6s0k OEeHBMHOBHM BYIESAJ

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 8




=

=1

8 91011

R T T
s
. 1 b1
:_\_’;" e 1§ |
ar o ¥
o -y 2
b )
= | i
= ;‘ H'ﬁ:

Ne ApTHUKYI HamMeHOBaHME Koxn
2 |791-806-136 Hox JieBbIl 12
3 |791-806-137 Hox npaBulM 12
* 1791-813-100 dpesa B cbope 2
Mogpernb
MoTo65n0Kk GEeHB3MHOBHM
BYLE®AJ

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

| Page 9




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |01-170-001 T'ojloBKa LUMJIMHIOpPa B cbope 1
2 101-168-002 linunpka kKapbopaTopa 2
3 101-168-003 Brynka @10x14 2
4 101-168-004 [IpokJjlamka T'OJIOBKM 1
5 101-168-005 nmiabkKa ITJITYLUTEJIS 2
6 |LR5YC Ceua sBaxmuraHusa LRS5YC 1
7 [01-168-007 BOJIT TOJIOBKM LMJIMHIOPA 4
8 |01-168-008 [IpokJylamka KJall. KPBIIKY 1
9 |01-168-009 Kpelllka KJIarnaHoB 1
10 |01-168-010 BosiT kJlallaHHOM KPBIIKM 4
11 |01-168-011 Tpybka oTBOHIAa I'as0B 1
Mogpernb
MoTo6s0k OEeHBMHOBHM EYIE®AT

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 10




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |02-170-001 Iunmuap (Py4YH. CTapT.) 1
2 102-168-002 CallbHMK KOJIeHBaJla 2
3 102-168-003 llarBa ronm OoJT 2
4 102-168-004 BoJsT CHIMBHOT'O OTBEPCTUS 1
5 ]102-188-004 Peyle pmaTumka Macja 1
7 102-168-007 JaTuMk YypPOBHS MacJja 1
9 |02-168-009 llecTepHsa per. OOOPOTOB 1
10 |02-168-010 HomumnHauk k/B 6205 1
11 |02-168-011 Maba 4
12 |02-168-012 BaxmuM 1
13 |02-168-013 Pouar Bajla per'. 0DOPOTOB 1
* 102-170-000 Habop npoxsanok 170F
Mogpernb
MoTo6s0k OEeHBMHOBHM EYIE®AT
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 11




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |03-168-001 [Ipobka (uyr) 2
2 103-168-002 BonT M8x32 6
3 |03-168-003 Kprlika kapTepa 1
4 102-168-002 CaylbHMK KOJIeHBaJla 1
5 ]102-168-010 [MogmmnHMK KoJieHBajla 6205 1
6 |03-168-006 BTyJka 2
7 103-168-007 [IpokJjlamka kKapTepa 1
Mogpernb
MoTo6s10k 6EeHBMHOBHM EYIE®AT
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 12




Ne ApTHUKYI HamMeHOBaHME Koxn
1 04-170-001 Kombuo nopmHeroe Z70x1,5 1
2 |04-168-002 Komblo CcTONOpPHOE 2
3 |04-170-003 [TopmeHs @70x49MMm 1
4 104-168-004 [lajylely NOpHHSA 1
6 |(04-168-0006 lMaTyH 1
7 104-168-007 lImoHKa MaxOoBUKA 1
8 |04-168-008S2 KosenBag 1
Mogpernb

MoTOBJIOK 6eHBMHOBHIMI

BYLE®AJI

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 4




Ne ApTHUKYI HamMeHOBaHME Koxn
5 ]05-168-005 KpoHWTENH KOPOMBICEJI 1
6 |05-168-006 llTaHnTra TOJNIKATEeJS 2
7 105-168-007 Tapejika TOJIKATEJS 2
8 |05-168-008 PoTaTop 2
9 |05-168-009E CTomnop NPYXWHBEl BHII. KJI. 1
9a |05-168-0091 CTomnop NPYyXWHEl BII. KJI. 1
10 |05-168-010 [IpyXMHa KaraHa 2
11 |05-168-011 MaCJIOCBEMHEIM KOJIITAUEK 1
12 |05-168-012 Kitamasel Habop 1
13 |05-168-013 PacnpeneaJg 1
14 |05-168-014 Kopomeicio Habop 2
Mogpernb
MoTo6s0k OEeHBMHOBHM EYIE®AT
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 13




Ne ApTHUKYI HamMeHOBaHME Koxn
2 |07-188-008A BEIKJIIOUATENE 3aXUTaHUS 1
4 |07-168-004 Koxyx MaxoBUKa 1
7 |168F1A Craprep B cbope 1
16 |07-168-016 Pyuka cTapTepa 1
17 |241-604 Ilnyp craptrepa 4,5 MM 1
* |X16011-RK PeMKOMJIEKT cCTapTepa 1
Monmesnb
Mo K HBVHOBEHIN
oTO6JsIOK GEeHBMHO EYIESA
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 14




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |08-168-001 [IpokJlamka TeIJIOM30JIaTopa 1
2 108-168-002 TerJon30JaTop 1
3 108-168-003 [IpokJjlamka kapbopaTopa 1
4 108-168-004 [IpokJjlamka kopnyca B 1
5 |08-168KR-005 KapbopaTop 1
Mogpernb
MoT K HB3MHOBHIM
oTob6J)IOK OEeHBMHO EYIESA
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 15




Ne ApTHUKYI HamMeHOBaHME Koxn
10 |10-168-010 [Ipyx1Ha pHYaTra 1
13 |10-168-013 Pouar peryngaropa 1
14 |10-168-014 [IpyXMHa TAITU 1
15 |10-168-015 Tara peryjasaTopa 1
16 |10-168KR-001 [laHesb ynpaBJIEeHUSA 1
Mogpernb
MoT K HB3MHOBHIM
oTobJsIoOKk OGEeHBMHO EYIESAT
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 16




Ne ApTHUKYI HamMeHOBaHME

Kon
1 |12-168-001 Kopnyc B/0 1
2 112-168-002 T'avika-6apamex 2
5 |AT802-HD160-01 OUIIBE TP BO3OYIIHBIN 1

MomeJsb

, - : MoTo6si0k GEeHBMHOBHIM EYIESA
1

Technical department
Engineer, chief designer
DYNAMIC DRIVE EQUIPMENT, USA |

Assembly drawing

John Emerson Jr.

Page 17




Ne ApTHUKYI HamMeHOBaHME Koxn
2 |15-168-002 MarHeTO 1
3 |15-168-003 Konmnauexk CBeYHOM 1
5 |15-168-005 MaxoOBUK (Py4YHOM CTapTep) 1
11 |15-168-011 KpellbuaTka MaxoBUKa 1
12 |15-168-012 XpamnoBuK cTapTepa 1
13 |15-168-013 T'alika MaxOBMKA 1
14 |04-168-007 linoHka MaxoBUKa 1
Mogpernb
MoTo6s0k OEeHBMHOBHM EYIE®AT

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 18




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |15-188-001P [IlpoBbra Bezobaka J42Mm 1
15-188-001M [IlpoBbra Bezobaka F42Mm 1
2 |114-168-002 OUIBTP TONNMBHEI 42MM 1
4 |14-168-004 Bak TONJIMBHHMI 1
5 ]15-188-005 liryuep 1
6 [15-188-006 Baxmum 2
7 |14-168-007 IlJIaHT TOIJIMBHEIN 1
8 112-168-003 IIymnmMTesb 1
9 |13-168-003 [IpokJjlamka ITJIYyWUTEJIS 1
10 |13-168-002 T'arika 1
Mogpernb
MoTo6s0k OEeHBMHOBHM EYIE®AT

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

| Page 19




